
Arithmetic Challenge 4

3 × 8 =             15 ÷ 3 =             537 + 231 =                 

674 − 132 =             4 × 5 =             48 ÷ 4 =             

644 + 251 =                 750 − 260 =             8 × 10 =             

3 × 12 =             32 ÷ 8 =             846 + 127 =             

951 − 473 =             4 × 2 =               765 + 248 =             
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Arithmetic Challenge 4 Answers

3 × 8 = 24 15 ÷ 3 = 5 537 + 231 = 768

674 − 132 = 542 4 × 5 = 20 48 ÷ 4 = 12

644 + 251 = 895 750 − 260 = 490 8 × 10 = 80

3 × 12 = 36 32 ÷ 8 = 4 846 + 127 = 973

951 − 473 = 478 4 × 2 = 8 765 + 248 = 1013
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